BOE5FBE WFEENXFEOH NXFHESRER
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[ FXEHNZOE

WNEBEX B | 20154 EINX

1. FEFHNA
£E - ASSIA 99,560,000 0 12,086,000 A 12,086,000 101,071,000
A = % 1,350,000 1,254,000
NE3-ES 90,000,000 12,086,000 A 12,086,000 93,809,000
EEIEN B 1,900,000 1,900,000
AT 4 HILEE 4.180.000 4.108,000
BIEE R 2,130,000 -
FERA 40,444,000/ 325,000,000{ 135,000,000 0 29,174,225
FRERTEENA 10,610,000 9,931,225
HPLAEFEINA 864,000 648,000
REE - BEfESZEA 22,910,000 16,165,000
FOE AT AR 2 UNA 2,560,000 2,430,000
HEEY a3 VvEENA 3,600,000 0
FERFMESINA 325,000,000 341,122,794
HARTFEINA 0 135,000,000 153,501,554
KEH L DEAESINA 1,000,000 0 A 1,000,000 0
—REENDDEASL 0 0 0
FMESHN L DRAS 1,000,000 0 A 1,000,000
F N & 0 0 0 0 0
¥ O A 700,000 0 13,300 1,044,838
SEFEBNAAE (A) 141,704,000 325,000,0001 147,099,300( A 13,086,000 625914411
2. BEERYZH
= (X E 67,329,000] 324,000,000{ 140,750,000 539,760,106
FRGEIEE 25,704,000 30,896,726
FERFMESTEE 324,000,000 337,964,896
HPERE 1,188,000 1,193,184
SEBEBVATLERE 1,240,000 1,339,723
WA RESEE 139,650,000 146,307,134
FEAATAHVEE RS 1,200,000 367,913
REZEREEE 12,205,000 8,685,890
REE - EfESXE 11,938,000 9,131,239
J-PCIxHBETEEE 5,160,000 0
REMMGIERE=E 5,594,000 3,873,401
BBty IV EEEM 4,300,000 0
g B B 62,177,000 8,183,000 74,671,436
= & B - 2,680,000 2,067,994
B & B 2,000,000 310,000 3,065,671
M m 1,000,000 555,000 1,127,286
E(BERTE 5,000,000 3,092,000 8,324,304
E - 620,000 0 620,000
EHREZE 46,257,000 1,546,000 52,250,181
H B OB 4,300,000 - 4245500
pr N ) 3,000,000 - 2,970,500
LKE~NDOBRHEXZH 12,086,000 1,000,000 A 13,086,000
—REET~NDEHE - 1,000,000 A 1,000,000
FTERET~NDIEHE 12,086,000 - A 12,086,000
¥ & B 0 0 0 0 0
HERSHHAS (B) 141,592,000 325,000,000 148,933,000 A 13,086,000 614,431,542
FERHICEH (C)=(A)-(B) 112,000 A 1,833,700 0 11,482,869
I BEIHHNZOE
BEEENADER
J-PCIEX AR A 0 - - - -
E PR A A A < B AR XA 0 - - — -
BEFHNAEGE (D) 0 0 0 0 0
BEEEXHDER
J-PCIEEEGIEATZH 0 - - - 25,000,000
RHFEEBEAZH 0 - - - 25,009,969
ElEEEZAZH 0 - - - 394,513
| BEFEEHTHES (E) 0 - 0 0 50,404,482
REFHNZ=%(F)=(D)-(E) 0 0 0] A 50,404,482
LN =E (G)=(C)+(F) 112,000 A 1,833,700 0] A 38921613
AR =5 (H) 59,736,449 126,750,743 0 237,581,709
REREBINZ ZH( | )=(G)+(H) 59,848,449 124,917,043 0| 198,660,096
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